ATTACHED W/ (2) 1/4"

ADJUSTABLE ROLLER CARRIER

x 172"

BOLT & NUT PER BRACKET

13 GA. GALV. COMMERCIAL

14GA. DURASAFE

CENTER HINGE ATTACHED

W/ (4) 1/4" x 3/4"
HEX HEAD SCREWS

TOP ROLLER BRACKET
ATTACHED W/<4> 1/4" x
1-1/2" HEX HEAD LAGS
PER BRACKET

TYPICAL TOP

2’ NYLON OR 10 BALL

FIXTURES

N.T.S.
SEE (TABLE 2> ON PAGE 3 F

STEEL ROLLER W/5” STEM

TYPICAL DURASAFE CENTER HINGE@

STILE STIFFENERS (¢5)

N.T.S.

RECOMMENDED SECTION CEINFIGURATIEIN

SEE PAGE 2 FOR OPTIONAL

GLAZED SECTIONS

STRUT AND STILE LAYOUT

HOLES FOR STRUT
ATTACHMENT dIF

LOCATED IN HINGE HOLECS>
ON TOP SECTION ONLY

25 GA SKIN (M600 &M650>

24 GA SKIN (M950)\_

STRUT IS REQIURED>

TYPICAL STILE STIFFENER

O

(1> 4-1/2" 20 GA R-TRUSS PER
SECTION ATTACHED W/(@) 1/4* X 3/4*

TYPICAL R-TRUSS ATTACHMENT

HEX HEAD SCREWS AT EACH CENTER
STILE AND (2 1/4 X 1-1/2 HEX HEAD
LAGS AT EACH END STILE.

.\

EMBOSSMENTS N N.T.S.

NOT SHOWN 5
: FOR CLARITY X X f
i o] <] o] o] o .
= 1 : 57 : : — (TEP)
':" \ E ixii_ E Aj »s
i : : 3 y
- ' [}
b H H H pi D
A e 5 i i ‘;5 THROUGH
l:=< ='- _7_—=—7—=:‘ H
p i 13l I Il L N
g ] & ] F 3 K
-T \ \ [ \ e
; = = - [ '
i [ [ N M | B
3 i i i[ i i el A l

................... —A f
SEE TABLE 4 ON PAGE 3
SIDE FOR STILE PLACEMENTS
| 16/-0" MAX {
INSIDE ELEVATION

2’ NYLON OR 10 BALL
STEEL ROLLER W/5” STEM

@) 174" X /172"
HEX HEAD LAG SCREWS
PER ROLLER CARRIER

N.T.S.
14 GA. DURASAFE

W/ @) 1/4" x 3/4"
HEX HEAD SCREWS

14GA. DURASAFE
ROLLER CARRIERS

1 174" X 3/4*
HEX HEAD SCREW

N.T.S.

TYPICAL DURASAFE END HINGE @

2 X 6 SOUTHERN YELLOW PINE
(NO. 2 OR BETTER)

(1) 5/16" DIA. x 1-5/8"

/_LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

20 GA GALV STEEL

L END S
, L

END HINGE ATTACHED

PER ROLLER CARRIER

(5) 20 GA CENTER STILES

/_ PER SECTION
/

3’ 20GA. STRUT

ATTACHED W/

@ 1/4" X 3/4°
HEX HEAD SCREWS
AT END AND CENTER
STILES

2’ NYLON OR 10 BALL
STEEL ROLLER W/5” STEM

f——

7/16" DIA. BOLT RETAINER
(1) PER ROLLER

wOOD BLOCK BEHIND END STILE

1/4-20 x 5/8°TRACK
SPLICE BOLT AND NUT

1-1/2* X 2-5/8" X 20-1/2° (21 SECTIONS)

OR (2> RIVETS

1-1/2* X 2-5/8" X 17-1/2" (18" SECTIONS)

TRACK MOUNTING DETAIL

N.T.S.

2" GALV. STEEL TRACK

TRACK THICKNESS .063"

TYPICAL BOTTOM BRACKET

N.T.S.

SEE (TABLE 1> ON PAGE 3

SIDE FOR STRUT SPACING

N.T.S.

O,

BOTTOM BRACKET

14 GA. THICK ATTACHED
W/¢3) 174" X 3/4*
HEX HEAD SCREWS

@

13 GA COMMERCIAL

2 TOP FIXTURE ATTACHED W/
(4> 1/4" x 5/8° HEX HEAD SCREWS
ADJUSTABLE SLIDE BRACKET ATTACHED
W/(2> 174" x 1/2* BOLT AND NUTS

—
Tt__

(1) 3’ x 20GA STRUT <LOCATED
T THE BOTTOM OF THE BOTTOM
SECTION>

CONT. STEEL RETAINER
W/ BOTTOM SEAL

SECTION A—A (SIDE VIEW)

N.T.S.

THE METHOD OF TESTING WAS IN SUBSTANTIAL

CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE

DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN

THE END ZONE, ROOF AT ANY SLOPE, AND I=1.0):

WIND SPEED (MPH) 145 131 125 19 14
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30’ 15’ 25’ 15’ 25’

INTERIOR OF GARAGE
MAX. WIDTH 160"

pesion Loaps[[ [T [T T TTT]
+255.2 LBS/FT
2297, LBS/FT  SEE NOTE 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,

FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+255.2 LBS/FT & —297.6 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 25 GA. MIN. (.019") ROLLED FORMED LIGHT
COMMERCIAL QUALITY

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

SPLICE TRACKS AT THIS
LOCATION W/(4) 1/4"—20
TRACK SPLICE BOLTS &
NUTS SECURE TO JAMB

s WITH (3) 5/16” DIA. x
> 4 1/72'H X 20 GA. GALV. STEEL (SPLICE> . 1-5/8" LAG BOLTS
R-TRUSS PER SECTION (LOCATED AT ;
TOP OF BOTTOM SECTION, BOTTOM OF " & /a
TOP SECTION AND MIDDLE OF D (C,t)\csél)?_T ?\I#'.I'AXCIJIEDS /TBO JAMB
INTERMEDIATE SECTIONS)
CTHROUGH) AT EA. JAMB BRACKET
H

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/ (1) 1/4"—20
TRACK SPLICE BOLT & NUT
OR (2) RIVETS

I SEE (TABLE 3> ON PAGE 3
SIDE FOR JAMB BRACKET SPACING

TRACK CONFIGURATION FOR 6°6” UP TO 14’ TALL DOORS

N.T.S.

REV | DESCRIPTION OF REVISIONS

DATE  |BY

UPDATED BOTTOM BRACKET INFORMATION

ADDED OAKSUMMIT AND GLAZING OPTIONS

07/12/05| DL

B [REVISED NOTE 6

09/02/08[ DLJ

C [REMOVED TABLE 5 / NOTE 7.

05/20/09] CBT

D |WIND SPEED TABLE & TRACK CONFIGURATIONS

04/06/12] RIR

MAX SIZE
16" WIDTH
14’ HEIGHT
(DOOR_HEIGHT
SUB.

JECT TO
WEIGHT LIMITATIONS)

DESIGN LOADS

+31.9 PSF

-37.2 PSF X

TEST LOADS o, &

1.5 x DESIGN LOADS) '(‘OA ll C.ENS.(:«%&‘)%‘O’/
+47.8 PSF \CSS/ON A -
-55.8 PSF \\C/ONALE

arry

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

MODEL #650 OAK SUMMIT 1000, 2000
MODEL #600 STRATFORD 1000, 2000

MODEL #950 HERITAGE 1000, 2000

Short, Long, Flush & Oak Summit Panel’s

SIZE| DRAWN BY  DLJ

DATE  12/22/03

B | coecke By M

DATE  12/22/03

DRAWING NUMBER

IRC-6016-145-24

ENGINEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579

SHEET 1 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


= ]
g

. T,

e ELT1|

¥ ° ¥ T C

OPTIONAL SHORT PANEL GLAZED SECTION STRUT AND STILE LAYOUT

18-1/8"
2 3 2
* *
10-5/8"
2 2
| — 2 5|

SHORT PANEL GLAZING FASTENER DETAIL
N.T.S.

GLAZING OPTION CROSS SECTION

GLAZING NOT _AVAILABLE IN WIND-BORNE DEBRIS REGION
GLAZING MEETS ASTM E1300-04

OPTIONAL Decra INSERTS

DearaFrame WINDOW FRAME
WITH UV PROTECTION
MIN. 3/32” THICK SSB

WITH UV PROTECTION
/ / GLASS
i iy T
L (10) #8 X 3/4" PAN HEAD SCREWS

AT EACH SHORT PANEL WINDOW FRAME

SECTION

MOLDED INSIDE FRAME:
B—B

4-1/2* 20 GA R-TRUSS AT BOTTOM OF
SECTION ATTACHED W/(2> 1/4* X 3/4*
HEX HEAD SCREWS AT EACH CENTER
STILE AND (2> 174 X 1-1/2 HEX HEAD
LAGS AT EACH END STILE.

DOOR HEIGHT

VERTICAL LIFT

AVAILABLE TRACK CONFIGURATIONS

HIGH LIFT

WOOD JAMB ATTACHMENT TO STRUCTURE

a

APART) AT 8’

APART> AT 8°

\

Oc. a 1747

wioaD
STRUCTURE

CONCRETE
STRUCTURE

EMBEDMENT

=l

=1

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE

5716 X 3” LAG SCREWS STARTING 6 FROM ENDS THEN 18“ O.C. (1 1/2“ EMBEDMENT>

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8” X 4” STARTING 6’ FROM ENDS THEN 24 0O.C. <2 1/2° EMBEDMENT>
HILTI SLEEVE ANCHOR 3/8" X 2-3/4” STARTING 6” FROM ENDS THEN 16* OC. (1 1/4” EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT> 3/8" X 4” STARTING 6 FROM ENDS THEN 24 0O.C. (2 1/2° EMBEDMENT>
2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK

SIMPSON 1/4* X 3 TITEN SCREWS STARTING 6’ FROM ENDS, USE PAIRS OF FASTENERS
O0.C. <1 1/2* EMBEDMENT)
HILTI 1/4* X 2-3/4” KWIK-CON II+ SCREWS STARTING 6“ FROM ENDS, USE PAIRS OF
FASTENERS ¢3“

EMBEDMENT>

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK ¢2000 PSI GROUTD
HILTI SLEEVE ANCHOR 3/8° X 2-3/4” STARTING 6”7 FROM ENDS THEN 20“ OC. <1 1/4*
EMBEDMENT)> <OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wOOD JAMBS BY OTHERS

\
HOLLOW BLOCK

\
STRUCTURE GROUTED BLOCK

STRUCTURE

STANDARD LIFT

|

1/2* MIN 2-3/4" MIN
2X6 JAMB _
TYP. 3 MIN
REV | DESCRIPTION OF REVISIONS DATE  [BY
o |UPDATED BOTTOM BRACKET INFORMATION /1205 ol

LOW HEADROOM

N.T.S.

ADDED OAKSUMMIT AND GLAZING OPTIONS

B [REVISED NOTE 6

09/02/08[ DLJ

C [REMOVED TABLE 5 / NOTE 7.

05/20/09] CBT

D |WND SPEED TABLE & TRACK CONFIGURATIONS | 04/06/12| RIR
~\\\\\\
MAX SIZE -~ A\

16" WIDTH = REOF Te M\

14" HEIGHT V“‘ ‘E*

Qg pe : -
WEIGHT LIMITATIONS) 6 / 2 { éo’]z
oo iows | G

+31.9 PSF (lbsasdeitismush i g

~37.2 PSF (N 85829 "é}"/

TEST LOADS R4 Q. &V
1.5 x DESIGN LOADS) t' % /CENS?' @tj

+47.8 PSF W SIONALEN 2=

—55.8 PSF NS

arry

165 CARRIAGE COURT WINSTON-SALEM, N.C.

27105

MODEL #600 STRATFORD 1000,

MODEL #650 OAK SUMMIT 1000, 2000

2000

MODEL #950 HERITAGE 1000, 2000
Short, Long, Flush & Oak Summit Panel’s

SZE| DRAWN BY  DLJ| DATE 12/22/03
B | CHECKED BY AAE| DATE 12/22/03

DRAMNG NUMBER
IRC-6016-145-24

ENGINEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579

SHEET 2 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


TABLE 1

TABLE 4

TABLE 5

DOOR Secton (Messured fom Left Edge) Section Londs Alowe
STRUT SPACING (BASED ON RECOMMENDED SECTION i | Panei Type [——freasured fomLetBdge) 1| " M ool e (-Loads poved.
HEIGHT CONFIGURATION) TOP (® () | Gm 1 G | G | G | L LCSH) L)
10'0 Short 48.41] 71.59 - -
A B C D E F G H T 10'0 Logg 30.00] 60.00 | 90.00 10°0 k'-0n9 508 | 59.2
T an 10' 0_| Oak Summit| 30.63] 60.00 | 89.38 10'0 }Oak Summit] 50.8 | 59.2
6'6 51/2]| 15 1/4/30 48 63 1/2 120 Short__[48.81] 72.00 | 95.19 58 fgg” igg 22-2
7| 51/2[ 15 1/4[31 1/2[52 112 69 1/2 1270 | Long [4063] 7200 o3¢ 1270 oak Sunm] 423 | 454
76" | 51212 1/4]| 27 45 |63 78 1/2 122 | Short [49.64[73.00] 9636 T o ey
8 | 512[151/4[30 [48 [66 81 1/2 155 ok Suammil 49,061 72 00| o6 05 122 {Oalcummi]_41.7 146 7
T Qn 12' 4 Short __[50.64| 74.00] 97.36 ; - -
876" | 51/2] 15 1/4] 31 1/2] 52 1/2[ 72 87 1/2 e el 174 | tow | a1z [ @0
9 51/2| 12 1/4] 27 45 |63 81 96 1/2 124 [Gak summil 4981 700 0 19 126 | Shot | 406 | 474
! ort 5 A . 2'6 0.6 .
96" | 51/2[151/4/30 |48 |66 | 84 99 1/2 156 [ tong [5117[ 7500 083 1575 [om Sutmi| 06 | 474
10| 51/2[ 15 4[31 17252 2] 72| 90 105 12 T REEE
'e" 12' 8 Long 52.10| 76.00 | 99.90 12' 8 |Oak Summit| 40.1 46.8
10'6" | 5 1/2[ 15 1/4] 31 1/2[ 52 1/2|73 1/2| 94 1/2 111 1/2 128 |_Long__|52.10[76.00] 9990 Sl b
11 51/2| 15 1/4| 30 48 66 84 102 117 1/2 12 10| _ Short _|52.25| 77.00 [ 101.75 1210 Long | 896 | 46.1
TN 12' 10 Long 53.10| 77.00 | 100.90 12' 10 |Oak Summit] 39.6 46.1
11 6 5 1/2 15 1/4 31 1/2 52 1/2 72 90 108 123 1/2 12' 10 |Oak Summit|52.06| 77.00[101.94 13'0 Short 39.1 45.6
. 13'0 Lon 39.1 45.6
12" | 51/2| 151/4]|31 1/2| 52 1/2|73 1/2| 94 1/2| 114 129 1/2 T ety toT2a 00 i0s60 50 [oak Summi] 351 | 456
126" | 51/2|151/4{30 [48 |66 84 [102 120 135 1/2 1370 _JOak Sumimi] 52 51 76.00103.19 T e e
13 51/2| 15 1/4| 31 1/2| 52 1/2|72 90 108 126 141 1/2 132 Long 55.10[ 79.00 [102.90 e Oaksﬁﬂm" Y
136" | 5 1/2| 15 1/4| 31 1/2| 52 1/2|73 1/2| 94 1/2[ 114 132 147 1/2 S e e e 1375 | tong [7ser | ad
14 | 51/2| 15 1/4[31 1/2| 52 1/2|73 1/2| 94 1/2| 115 1/2| 136 1/2| 153 1/2 I T By By 156 | shot 576 459
13' 6 Short 55.40] 81.00 | 106.60 13' 6 |Oak g:?nmi[ 37:6 43:9
13' 6 Long 55.90| 81.00 | 106.10 13' 8 Short 37.2 43.3
13' 6 | Oak Summit] 55.06( 81.00 | 106.94 13' 8 L 37.2 43.3
13' 8 Short 56.40| 82.00 | 107.60 13' 8 |Oak (S):?nmit 37.2 43.3
13' 8 Long 56.63]| 82.00 |107.38 13' 10 Short 36.7 42.8
13'8 |Oak Si it| 55.81| 82.00 | 108.19 13' 10 L 36.7 42.8
TABI—E 2 TABLE 3 13' 10 ashg:mn 57.16] 83.00 [108.71 13' 10 | Oak g:?nmit 367 | 42.8
13' 10 Long 57.17] 83.00 | 108.83 14'0 Short 36.3 42.3
DOOR SECTION HEIGHTS DOOR TRACK ATTACHMENT SPLICE 13" 10 | Oak Summit| 56.56] 83.00 | 109.44 10 |_Ltong | %63 [ 423
14' 0 Short _ [57.76] 84.00 [110.11 aK Summi : :
HEIGHT [Btm | #2 | #3 | #4 | #5 | #6 | #7 | #8 HEIGHTIA| B|C | D E|JF |G| H S 14 0 Long _|58.63] 84.00 | 109.38 142 | sShot [ 358 | 418 REV | DESCRPTION OF REVISIONS DAE  [BY
6'6" [10"|21"| 38" | 58" 70" 14 0 |Oak Summit] 57.31] 84.00 | 110.69 14' 2 Long 858 [ 418
14'0" | 21"|21"| 21" | 21" | 21" | 21" | 21" | 21" 122 | Shot_|58.85] 85.00 [ 11141 142 1Oak Summit 358 | 41.8 UPDATED BOTTOM BRACKET INFORMATION
13'6" | 21"|21"|21"|21"|21"| 18" | 18" | 21" T 107 21" ) 42" | 63" 6" 172 | Long [59.17]8500(11085 T BT I AT A [ADDED OAKSUNMIT AND GLAZNG GPTONS /s o
76" |10"| 18" | 36" | 54" | 72" 82" 142 [Oak Summit/58.06] 85.00 [111.64 44 [Oak Surmmi 354 | 413
130" | 21" [ 217|217 18" [ 18" [ 18" 18" | 21" : o1 Tag Teg o ; 1ra | Shon [so16[e600[11271 e Shot [ oo |- {RMSEDNOE U/ua/te| DL
— . . ~ ~ . - - . 8 110"]21")39"|58"| 75 88 14 |__Long__JG0.I7[86.00[11163 146 | Long | 350 | 408 C_|REMOVED TABLE 5 / NOTE 7. 05/20/09] CBT
12'6" 121")18"]18"|18"|18") 18" | 18" | 21 86" |10"| 21" [ 42" | 63" | 81" 94" R b B 1076 [Oak summi] 350 | 405 | ") | WD SPEED TABLE & TRACK CONFIGURATONS | 04/06/12] RIR
o" " " " " " " " ' " " " " " " " 14' 6 L 61.17] 87.00 [112.83 ] - -
12'0 21" 21" 21" | 21" | 21" | 18" | 21 9 10"| 18" | 36" | 54" | 72" | 90 100 140 Lo _{6Lil187.00 112,83 8L ong ] %46 | 4044 S
11' 6" 21" 21" 21" | 18" ] 18" | 18" | 21" 9'6" |10"| 21" | 39" | 57" | 75" | 93" 106" 14'8 Short_| 60.56] 88.00 | 115.31 14'10] Short 342 [ 39.9a MAX SIZE - e OFT \y\
: T 57w m m m m T 148 | Long |44.81|"66.41] 88.00 |"10950| T31.10| | 14 10| Long | 342 | 39.9a 16, WIDTH PR FIN!
11'o0" | 21" (18" | 18" | 18" | 18" | 18" | 21" 10 10" 21" 42" | 63" | 81" | 99 112 14 8 _[Oak Summit| 60.31] 88.00 | 115.60 14" 10 |Oak Summi|_34.2 | 39.9a 14’ HEIGHT
' qn m " " " [T [0 " 14' 10 Short 61.26[ 89.00]116.61 15'0 Short 339 [395a (DOOR_HEIGHT N
10| 6|| 21|| 21" 21" 21" 21" 21" 10 6 10 21 42 63 84 105 118 124 10 Long 25.601767.30] 89.00 |~110.70| 132.40 15'0 Long 33.9 395a WE|Gs|-l|JTBJ|JEﬁ.|I:|'I%QN5) / ° {é
100" | 21" | 21" [ 21" | 18" [ 18" | 21" 11" |10"| 21" | 39" | 57" | 75" | 93" [111" 124" 14" 10 [Oak Summit[61.06[ 89.00[116.94 150 loaksummitl 359 13952 |DESioN LOADS | eeiiessessceseess GL2KL 1012
' A A [e]g B .0a,
= AETORT BEr AR AELD 11'6" |10"[ 21" | 42" [ 63" 81" | 99" [117" 130" | [550 | tong —|dee0rer a0l 80,00 [rirs 7ol izwa0] [ 152 | _tong | 335 [wvoan] | +31.9 PSF 7 THOMAS L. SHELMERDINE 7
9'6 21" 18" 18" | 18" [ 18" | 21 12" (10" 21" [ 42" [ 63" | 84" [105" 123" 136" 15' 0_[Oak Summit] 33.63["61.81] 90.00 |~118.19] 146.38 gi Oaksiz':m“ ggi’ gg'g :E —-37.2 PSF ,’ 4"._ 85829 ":O://
90" |18"]18"|18"|18"|18"| 18" 126" |10"| 21" | 39" | 57" | 75" | 93" [111"[120"]| 142" | [Tio s tong o eo[msasoforoo it ol tsado| Lo Lona | so1 [omoar| | TEST LOADS Wi loens®.
— - - - - m e Tom St et e ot o0 ritoaal L s8] |15 4 |Oak Summitl 331 [336ab| (1.5 x DESIGN LOADS) t /“@EN ..... N
86 21"| 21" 21"| 18" | 21 13" [10"| 21" | 42" | 63" | 81" | 99" [117"[135"| 148" T o o3 551 75 50 105 86T 3050 T 156 | Shon [ 326 |362ah +47.8 PSF \\\‘93/ONA\_E"\."’
- - - - ! on R .24, _ -
80" |[21"]|18'[18"|18"|21" 13'6" [10"] 21" | 42" [ 63" | 84" [105"|123"|141"] 154" 154 | Long 47.25[%69.63] 92.00 [11436[136.75| |—& 5 oak summi| 328 [38.2ab 55.8 PSF M
— - m m m m 14. 10" 21" 42" 63" 84" 105" 126" 147" 160" 15[ 4 | Oak Summit] 34.63(763.31] 92.00 [~120.69]149.38 15 8 Short 324 |37.8ab
76 18" | 18" | 18" | 18" | 18 12-2 fhor‘ 23-2(2) :Sg-gé 33-88 :Eg%g 32-23 15 8 Long | 324 [37.8ab
7' 0" 21" | 21" | 21" | 21" ALL TRACK ATTACHMENT SPACING +/—2" ALLOWED WITH SYP NO. 2 OR BETTER ONLY 156 [oak gﬂ?nmn 27221770 21 93.00 [*115.79| 135 58 g fo Oaksﬁg':m“ gg:i g;:i :E arr
T . . o o 15'8 Short 47.62("70.81]| 94.00 |~117.19[140.38 15' 10 Long 32.1 [37.4ab
SRES LR L TR e o s R o Y k) e e e
15' 10 Short | 48.62]"71.81] 95.00 |7118.19] 141.38 16' 0 Long 319 | 372 MODEL #650 OAK SUMMIT 1000, 2000
15710 [k S| 48 627 81l 52,00 {116 1o[ Lt as] ' Fordans 108120, 156 145 - MODEL #600 STRATFORD 1000, 2000
16' 0 Short 49:62 A72:81 96:00 '\119:19 142:38 multiply above pressures x 14.476/door MODEL #950 HERITAGE 1000, 2000_ ,
160 | Long _ [50.60[~73.30] 96.00 |"118.70| 14L.40| width Short, Long, Flush & Oak Summit Panel's
e Tom sl e oo o) (st 0 stwito ] oot O 0| e
width B[ checkm Y M| DATE 12/22/03 IRC-6016-145-24
ENGINEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579 | SHEET 3 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


	6016-145-24 UPDATED 6-20-12
	pg2
	pg3

